K>3 k7~ F1018#RFAT A TRALIT4 G 3R

P8 R

g mc ) FAHE LT (Y FaLE )
~EHAE (40%)
1. IEEE80211g# #F b+ ¥ £ 4%
(1) 16Mbps (2) 22Mbps (3) 54Mbps (4) 72Mbps °

2. ICMP t-OSlei— f i (€2
(1) s (2) #EA& (3) @EE  (4) 635K -

3. ADSL#-0~1.104MHzerfs Bl A 4256 BHEE » & A 0| 38 T 3E 3 ~ + 7 ~
T i g b
(1) DMT (2) QAM  (3) GSM  (4) TDM -

4. T5'“¥’—‘,§§~C|&SSA PRL | P e p TS RREL Q
(1) 255.0.0.0 (2) 255.255.0.0 (3) 255.255.255.0
(4) 255.255.255.255

5. Which one is NOT the Register ?
(1) Program Counter (2) Main Memory (3) Accumulator (4 ) StackPointer

6. T rlir % LA % B + 5 F s Visas MasterCards & 4 & ks
HEEEREE
(1) A L 4PCT) 2. (2) % 2422 3 @12 (S - HTTP)
(3) T+ WBBS)@HH T (4) % 27+ 23 SENH

7. T in SCPUR iFi R E 9
(1) bps (2) dpi (3) RPM  (4) Hz

8. MRGBgE¢ i ilfw » MTVRBEI B R 7
(1) (255,255,255) (2) (200,200,200) (3) (128,128,128) (4) (0,0,0)

9. MITF YR HCE E AR Y 2 AT ?
(1) 1/2 (2) 213 (3) 306 (4) 412

105K ™ 7l fdie ot 5 Poif R AR
(1) Hard Disk (2) DVD (3) Register (4) SDRAM
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laja@parts] (RAID) g it R ? (20%)

2 ENAFET S B ArnRE Ay R P X A A E e R 5]-(20%)

3F BN TRABHFEOES 2P 2 (20%)
void recu(int d)
{
d=d-1;
if(d>0)
{
printf(d);
recu(d);
printf('a’);
}

void main()

{
recu(b);

}
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L. T = fE# R 2 E (AP £ 7 2 (quick sort) ~ (B) £ & £ /& j2 (merge sort) &2
(C)# i # & % (bubble sort) » ¥Rit >+ divide- and-conqueri 1g ?
(HA2B
(2)AeC
3)B¥&C
4)A-~B- C%’K—S!\

2. BREARY FITHEL > F ;ﬁ“d et e R B G PR B S ,B;_;
(P RS 2
(2)hIRPE R 2

QLRS- ST
(4) 8 Ft B 32

3. T 7K 5 R BIC+EFA-B* DN E N A T 2
(1)BC/EA*+BD*-

(2)-=/BC*EA*BD
(3)BC/EA*BD*-+
(4)B/C+E*A-BD*
4. #137021,19,37,52'5d F e (bubble)# R 2 d | 3 A EE - &% - /7
(swap)fs 18 eniE & 5 @ ?
(1)19,21,37,5,2
(2)21,19,5,37,2
(3)21,19,37,2,5
(4)2,21,19,37,5
5. The depth of a complete binary tree is given by
(1) Dn =n log2n
(2) Dn = n log2n+1
(3) Dn = log2n
(4) Dn =log2n+1
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6. How many spanning trees in a complete graph with 5 nodes?
(1120
(2)60
(3)48
(4)24

7.  Which one is best for binary search?
(1)ordered items, sequential access devices
(2)ordered items, random access devices
(3)unordered items, sequential access devices
(4)unordered items, random access devices

8. f(n)=20+3n"+2n+2 > FK EFAFER L 7 ?
(1)3n”
(2)2n°
(3)n’
(4)2

9. - BARE LAY > d WP EFEI LI NFTHRA A § RSP FH
PR AL SRR £ 2
(I)stack
(2)array
(3)queue
(4)linked list

10. - Bonkz > &5 €5 S BESI?
(1)n?
(2)n’
3)2!
(4)22

- S B EE (60%)

LR s Fa? » P = % fei% (perfect hashing) ? 388 — G < (20%)
2.3 i@ 7} (time complexity) ? # 3} ( space complexity) 7 (20% )

3B ANT AR FE 2 POFEFAFRR > T d BRI E 5] (20%)
(A)Heap Sort (B)Merger Sort (C)Bubble Sort (D)Quick Sort
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I. Vocabulary and Grammar: Choose the best answer. (30%)

1.1 got last year to Supervisor, which was good but meant I had to
move to London.
(A) commuted
(B) exercised
(C) divorced
(D) promoted

2. Traditionally in the Asian culture, taking a is not regarded as a
humiliation.
(A) wish
(B) bow
(C) guess
(D) joke

3. The government has been working on a national plan to take care of
all the elderly since 1993.
(A) independence
(B) combat
(C) pension
(D) discount
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4. The last job I for was in an insurance company but they turned me
down.
(A) built
(B) applied
(C) moved
(D) shaped

5. The bomb threat turned out to be a after policemen search the

building.

(A) adaptation
(B) reputation
(C) flavor

(D) hoax

6. If the bills in five days, the company will seek damages.
(A) weren’t paid
(B) won’t have paid
(C) aren’t paid
(D) don’t pay

7. In most cases, if someone is offended by something you do or say, it is much
better to right away.
(A) apologize
(B) sorry
(C) honest
(D) against

8. for mercy and forgiveness are normal reactions from prisoners
that are executed either by electric chair or shooting.
(A)Imaging
(B)Begging
(C)Eliminating
(D)Attracting
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9. How to remain a successful relationship with the sex has
always been a focus that teenagers care for.
(A)raw
(B)opposite
(C)efficient

(D)various

10. A Malaysian freighter lost power to its main engine and its oil
had devastated the Alsakan coast.
(A) spill
(B) flow
(C) spring
(D) drop

11. Some employees get their paychecks automatically in their bank
account.
(A)deposited
(B)depositing
(C)are deposited
(D)deposit

12. One thing not to on the first date is how many other people

you are dating.
(A) know

(B) accuse

(C) lie

(D) reveal

13. The shambles following this hurricane as nothing when
compared with that of last season’s.
(A)are
(B)is
(C)do
(D)does
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14. She got out two of her red-checked mats and them on the table,
along with soup bowls and spoons.
(A)lay
(B)lain
(O)lie
(D)laid

15. can cause a serious problem, even making life miserable and hard
to go on.
(A)Depress
(B)Depressive
(C)Depression
(D)Depressed
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1. e jnfpsm 3 > 0T fa;ﬁ),%? WEdEY ?
(1) Http Streaming  (2) True Streaming  (3) RTP Streaming

(4) Clientless Streaming

2.Maya = % #j 1 #3¢ ¢ Targa 3 & G5 P AT g 7
(1) 4% & Photoshop 2 8] (2) #& &3 & enBlHh (3) &= WUFT R
(4) & & 45 Keyframe ¥4

*}grﬁgg«fnj»;ﬁpa,—r;q, —ﬁ“%;k?
(1)’:@9%“}9@;320 (2) 373 E I 5 202 (3) #7558 H 241
L 202 (4) 45 Eﬁ‘r’i{fa a7 g H LA

4. % B Lev Manovich %3 » 305 AT A # R A5 w38 > H P Targ angy
S 7‘5'3’;% A < (Cultural Layer) ™ 2 % #a(Computer Layer)= i & &  #74%
BT T A2 P EDAIBEG  ieA BEG S §48T TEE
AR - BIFE DT Y e g AGFH S T V- A
(1) #ciE i ehf IR (Numerical Representation)  (2) #% i* (Modularity)
(3) p # i (Automation) (4) F i€ ;% %78 (Trans-coding)

5. '"LF R oA Mong g B B e o ARk g i T AR B BN
PR FRF L  FRFREFHNE S A ERSET N
B ST B R T SR I
(1 ) Computer Aided Design  (2) Computer Aided Manufacturing
(3) Rapid Prototyping  (4) Reversed Engineering
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(1) E&#%FF (2) $Fbé = (3) Ty hm (4) Fep?
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